					Total	% of		Value Per	PB Max
Local Sponsor (LS)	ODA App#	Farm ID	County	Owner Name	Score	Donation	Acres	Acer	Purchase Price
Fulton SWCD	30	11143	Fulton	Lane, R (77 ac)	55.07	25.0%	77.251	2,000	154,502
	27	11142	Fulton	Bratton, J (88 ac)	51.81	25.0%	88.587	2,000	177,174
	31	11135	Fulton	Overtime (Studenka	50.67	25.0%	50.000	2,000	100,000
Fulton SWCD Total							215.838		431,676
Grand Total							215.838		431,676

Easements proposed for funding provided as Exhibit D by Local Sponsor

Easement being submitted to Controlling Board

					Total	% of		Value Per	PB Max
Local Sponsor (LS)	ODA App#	Farm ID	County	Owner Name	Score	Donation	Acres	Acer	Purchase Price
Marion SWCD	68	10978 r	Marion	Swick-Brown, G (127	56.29	40.0%	131.350	1,577	207,084
	69	10979 r	Marion	Lill , R (49 ac)	53.22	25.0%	49.475	1,516	75,000
Marion SWCD TOTAL							180.825		282,084
Grand Total							180.825		282,084

Easements proposed for funding provided as Exhibit D by Local Sponsor

Easement being submitted to Controlling Board

					Total	% of		Value Per	PB Max
Local Sponsor (LS)	ODA App#	Farm ID	County	Owner Name	Score	Donation	Acres	Acer	Purchase Price
Ottawa SWCD	86	11144 (Ottawa	Overmyer, S (100 ac	45.72	40.0%	100.090	2,000	200,182
	87	11183 (Ottawa	Humberger, D (40 ac	43.78	40.0%	40.000	2,000	80,000
Ottawa SWCD TOTAL							140.090		280,182
Grand Total							140.090		280,182

Easements proposed for funding provided as Exhibit D by Local Sponsor

Easement being submitted to Controlling Board

					Total	% of		Value Per	PB Max
Local Sponsor (LS)	ODA App#	Farm ID	County	Owner Name	Score	Donation	Acres	Acer	Purchase Price
Union County Commissi	13	11037 Union		Rogers, C (85 ac)	45.02	25.0%	85.770	2,000	171,540
Union County Commissi	oners TOTAL						85.770		171,540
Grand Total							85.770		171,540

Easements proposed for funding provided as Exhibit D by Local Sponsor Easement being submitted to Controlling Board

					Total	% of		Value Per	PB Max
Local Sponsor (LS)	ODA App#	Farm ID	County	Owner Name	Score	Donation	Acres	Acer	Purchase Price
Wayne County Board of	72	11131	Wayne	Hahn, S (82 ac)	40.77	25.0%	82.000	2,000	164,000
	73	11132	Wayne	Martin, L (67 ac)	35.92	25.0%	67.630	2,000	135,260
Wayne County Board of Commissioners TOTAL							149.630		299,260
Grand Total							149.630		299,260

Easements proposed for funding provided as Exhibit D by Local Sponsor

Easement being submitted to Controlling Board